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B K Birla Centre for Education 

Periodic Test - 1 

Grade IV - English Syllabus and Blueprint 
r1~ TIMI<~ J.5 

cf)UAA"T'°"- I\\..-
MCQ/O LAQ 

Typology 
Testing Competencies/ Learning bjective/ SAQ 3 

VLAQ Marks 
outcomes VSAQ 2Mark 5 Marks 

1 Mark 
Marks 

Reading Conceptual understanding, 
Skills Analyzing, inferring, interpreting 6 6 

and vocabulary 
Writing Expressing an opinion, Reasoning, 

justifying, style and tone, using 1 5 
appropriate format and fluency. 

Grammar Applying convention using 
integrated structures with 5 5 
accuracy and fluency. 

Literature Recalling, reasoning, appreciating, 
applying literary conventions, 
extrapolating, illustrating and 
justifying etc. Extracting relevant 3 1 9 
information, identifying the central 
theme and sub themes, 
understanding the writer's 
message and writing fluently 

Total llx 1 = 11 3x2=6 lx3=3 lxS=S 25 

ft2om~ 
~ - 1 2 ~ 5 ~ 
1 ~~-~-m.:i 1 5 

2 5 5 

3 TJ . !H:fltti'< 4 3 10 

4 l;l_ fmmq=J 1 5 

cm:r g 6 10 25 

- - --
CLASS - 4 MATHEMATICS 

!chapter Name MCQ(l) SAQ(2) LAQ(3} TOTAL 

MULTIPLICATION 3 2 2 13 

DIVISION 2 2 2 12 

I 5 8 12 25 

--=-Qi v 
) 



~bject: Science 

Name of units/Chapter MCQ(A/R) 2 Marks type 

The food factory of plants. 3(1) 2(2) 

Adaptation in animals 2(1) 1(2) 

Reproduction in animals 1(2) 

5 8 
Subject : Computer Science 

Ch.No Chapter Name MCQ Short Questions 
lMark 2 Marks Each 

Each 

3 MORE ON MS WORD 2016 3(1) 2(2) 

4 USING STYLES AND OBJECTS 2(1) 2(2) 
IN MS WORD 2016 

Total Questions 5 4 

Total Marks 5 8 

SUBJECT.-SOCIAL SCIENCE 

MCQ-
Chapters (1 mark) 

Oimate of India 
1. 2(2) 

Water Resources 
2. of India 1 (1) 

3. The Northern 
Plains 2(2) 

Total 5111=5 

FRENCH Level-0 

Remplissez Jes blancs : Sm 

Traduisez en anglais : 10 • ½ = Sm 

Objective Very Short 
Type of Answer-(2 
Questions( marks) 
1 Mark) 

2(2) 2(4) 

2(2) 1 (2) 

2(2) 1(2) 

6111=6 4112=8 

3 Marks type Total 

2(3) 13 

1(3) 7 

1(3) 5 

12 25 

Long Questions Total Marks(25) 
3 Marks Each 

2(3) 13 

2(3) 12 

4 13 

12 25 

Long Answer- Total 
(3marks) (ZS 

marks) 

- 6(08) 

1 (3) 5(08) 

1(3) 6(09) 

2X3=6 12(25) 
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